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Losung Al

fix) =05 filx)=0 f2(x) =0,5x; f(x) =05
f3(x) = 0,5x% f3h'(x) = x fr(x) = —cx3; fi(x) = —3cx?
fs(x) = yx* fi(x) = 4yx® f(O2+1; fl(O) =2t

f() =05t*+q; fi(t)=t

Losung A2

f1<x>=1- A =-% R = R0 =1
10 3a

fa(x) = 2 fs(x )——_ f4(x)— s+ 7 f4(x)——x—

fo(x)=b"1x73; fi(x)=-3b"1x* £ () = _2 £(t) = _f
—100x

fO=— f1(0)=

Losung A3

fi(x) = x2 + 6; fl’(x)=i f,(x) = 5—6 fr(x) = — 1

4b
fs(x) = —+Pq fs(0)=—-—= fa() = ax™% fi(x) = —5ax°®
fs() = bx™% fs(x) = —6bx_7 fo(®) = e?t™% fo(t) = —2e%t™3

f7(t) = 25xt™3; fo(t) = —75xt™*
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